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( APPLIED STATISTICS )

1. Answer the following as directed : 1x7=7
SeTe AR ot SepiiR Seg i

(a) What is price relative?
o1 Seifee 2
(b) What is a time series?

FECR FIE 0 2
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(c)

(d)

(e)

1

(9)

(2)

Fisher’s index number is the — of

Laspeyres’ and Paasche’s indices.
(Fill in the blank)

froRa P  Carm SR S s
SRR !

(«reR 312 ~@9 390)
Distinguish between a parameter and a
statistic.
Parameter & Statistic-9 &9 A1
YAl |
Define net reproduction rate.

Net reproduction rate-9 J%I fran |

What is random sampling?

e 2ifesam T 2

What is consumer price index?

SIS A o TR T {2

2. Give short answers to the following

questions :
©eT i 2ppTRR oY T fr
(a) Index numbers are economic

A7/654

barometers. Explain.

ORI (R AYATSF e T | 0

( Continued }

2X4=—:&
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(3)

(b) Distinguish between fertility and
fecundity.

AT PRI HF LG FAOR AGo 12T
e |

(c) If Fisher’s ideal index number is 54 and

the Laspeyres’ index number is 56, then
calculate the Paasche’s index number.

T ORS00 SR 54 HE SABCIRE PP
56 T, (ST IR ST 51T 7 |

(d) Mention two relative advantages of
complete enumeration.

o stere ] SN o1 Seeifrss Sfar Seay w41 |
Answer any three from the following
questions : 5x3=15

wod <91 R @en fofnt e Teg faar:

(a) Show that Fisher’s index number lies

between Laspayres’ index number and
Paasche’s index number.

TSl (¥ RO 5% RN FAGCA S AR
3169 SR T[&© AT |
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(b)

(c)

(4)

Briefly explain various components of a
time series.

e RfSa Sl vqLe < 41 |

From the following data, calculate the
Fisher’s index number for the year 2015
with 2010 as the base year :

Commodity

Price per unit (in )
2010 | 2015 2010 2015

Quantities

3 S 20 25

6 25 30

o Q@[>

4
2 3 30 25
1 2 20 15

(d)

A7/654

were iy ©U | 2010 S fofe < o
4f4 2015 T A [FOEA SPIIGE S T4

ST e

2010 | 2015

CAMB21fS 277 (53TS)
2010 2015

3 5 20 25

25 30

4 6
2 3 30 25
1 2 20 15

oo @[>

Distinguish between age-specific fertility
rate and total fertility rate.

-2 AT I SF TP AG TR Ao
AT YA |

( Continueq ,

s .

L
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(S)

(e) What is streatified reandom sampling?
What are its merits and demerits?
TS Afozs aAfesrs e & 2 |WR g o
TR 3 2

Answer any three from the following

questions :

Ood “[/1 R e fofibt e T i -

(a) Briefly explain the methods of least
squares and moving average used in

finding trend in time series data.

IR earel Fefy TR FA1 PeAed I wS
¥ 5518 ¢ (moving average) d&S HY(P
AT 30

Write two uses of index number with
examples. Define index number as given
by Laspeyres and Paasche. Discuss
about the problems encountered while
constructing an index number.

(b)

PIRFA Wl AR T piee o |
AR SF AR SPiRE g ke |
MBIISE s1oel IR Aece & & STevE T
2’3 IS, S0 F4T |

10x3=30

2+4+4=10

( Turn Over )



(6) (7))

(c) Explain the methods for measurement Soq Oifeidre 2016 94 e [AfSa ST ¢smbs
of mortality. SPHIRE  SF THAl (e S™ =R
TR 2R S 1 AR STIZ T T+ | (S = = 2006) :

' Group of items Group Group

(d) Write short notes on the following : 5+5=10 ‘ ST ¢ index weights

CANHT FoFT CMB S

oo fRAIARE 5 (ol fer -
i Food /=m 150 55
(i) Chain-base index number Clothing/ 33 280 10
(- T Fuel /za™ 180 07
House Rent/ ¥9S[1 300 10
(i) Systematic sampling Others /= 210 18
AT 2o (i) Calculate the overall cost of living
I ving averages index number for 2016. 8

(e) Calculate three-yearly mo .
for the following data and comment on 2016 B9 A SIS (STyR) K= =
the results : TR SPFRE A 997 1
wors fg o A ORI Fe8 1S Siel (ij) Suppose a person earned ¥ 18,000

T SIS O TS 41 : per month in 2006. How much he
i 2oy must earn per month in 2016 so as
2 2003 2004 2005 to maintain the same standard of
Year (&) : 2000 2001 200 living as in 20062 2
Y . o4n 250 252 249 233 255

4R @ 26 @ 2006 tH® & TR
2 18,000 TF Tl R |

Year (3&7) : 2006 2007 2008 2009 2010

: 265 262
- sasl. 257 260 2016 IR b= iz Srmes O
(/i In the follomg table indices of 2016, 2006 W €H iz Irme 9@
group of items and their weights are AR 2@ 2016 O AREEEA ACZ
given (base year = 2006) : = 51 Tl {7 =nfe 2
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1. Answer the following as directed :

(8)

( ECONOMETRIC METHODS )

wore g Aot SepifR Te fio -

(@)

The term ‘econometrics’ is formed from

1x7=7

(c)

(9)

If there is no autocorrelation, then
Durbin-Watson statistic should be

M e oTm N, oER'E
Durbin-Watson-3 “fR< 99 @ Tfte
(i) equal to O

i O0-9 391
two words of Greek origin i
economy) and (measure).
: 4 (Fill in the blanks) 4- S
‘Econometrics’ *Fcsl —— (T¥AS) A= (i) equal to 2
(et o1 g7 T = 191 TeeAfe cxm | 2-9 3
(4N oT% 7<) (Choose the correct one)

(emco AfR Sferean)

iations of a time series .
bl The st e (d) In autocorrelation, independent variables
B - T are related to each other.
IS AT el (Write True or False)
(i) within a month FULFT T TR SRR BCOR FAsre o
o1 127 T AL |
(o= 7 srRem o)
i} ithi ek
i W%]thmsma g;@ (e) Heteroskedasticity means equal
G0 i variance.
(i) within a year (Write True or False)
5] I%3] fooqe Heteroskedasticity-3 92f (agg sqepqe |
(iv) within a day (o= @ == &)
<1 o oo What is time series?
(N
(Choose the correct one) & i R 2
(ol q1fR Sferear)
A7/654 ( Continued ) A7/654 ( Turn Over )



(10 )

(11 )
i ion like Y =a +BX not
L ggaéieagre;l;iiﬁetﬁc study? ’ 3. Answer any three from the following
) ) questions : 5x3=15
= A9 econometric
zs;ﬂ:?uzéggﬁm?@ T R e ! e S fan
(@ What consequences may multi-
2. Answer the followinémquestions : 23as colinearity have on the OLS estimators?
Toro fAE 2peaRe e fuan -
OLS fifieed cvae o1 =l sroraad
(a) Define mean lag and median lag. Wﬁi?

T A5 S TGP (Fio@ gl |

(b) Explain with example the concept of

(h) Name two problems that arise in the dummy variable trap.
estimation of a linear regression model, | TR d
. ummy e IRECHT 7T 47 |
when the asumptions of EU;)? = 8% and 3
U.)= iolated. :
%(UJ,UJ] 0 are VIOE ?im ) (c) Given that X =593, XY =114,
S A Pl SAEACRF TR 2 - 2 =
2 52 wid ZX*“ =32209, ZY“ =1226 and
=1f¥ fdere sjf2 =, afea EU;)” = _, ZXY =4996. For a  sample of
E(U;U ;) = 0 Sifuren 1 A1 511 772 | = oeerElongiy,, compute the
OLS estimates of o« ang B for a
(c) Mention two main goals of econometric 1 regression model Y =a +8x + .
studies. ! fran ik &, XX-= 593, 3szy=114,

Econometric S 7ol o4 T TCEd £X? =32200, Y2 =1226 I
341 |

IXY =4996. 1201 *fficsqq w0
TREY W1 Y =0 +BX +U-3 OLS R o

(d) In the context of lag models, what is SF B s1ere 0 |

Koyck’s scheme?

a5 SIfE 2375 Koyck-3 Siibf Ae 2
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|
( 14 ) 1 ( 15 )
{
D,; =1, rural (/) Show that for the first-order auto-
=0, urban regressive scheme
() Why are dummy variables used? ST T AT-TER TR rme SfSems
CFaS

(i) Why are there two dummy
variables? Uy =pU_) +Ep,|PI<]
where (3'9), E,) =0

(i) Interpret the results of all the
E[€s) =0 t#+s

independent variables.

=82 t=s
iR «e Smmma =¥ 2= ‘
var(u,) = 5‘2
Y; =286-12 +104-97Xy; +10-2X; HT 1 -p2
~173.17Dy; —326-46Dy;
* % X
3’8, Y; = TET Preed %zl : \
Xy; = Preeor wfewsel '
X, =TS coman *roa1 w791
Dy; =1, 9fZ=
= 0, %F¥
Dy; =1, am
= 0, 7N
(i) =8 dummy &% IR T4 (2072
(ii) 2 4 Y61 dummy 513 IR 0 ?
(iti) ST FOF HoIA R A 47 |




